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Q3 x % B rkxxZroxxx x Kok 3% ok k% 3%k % 33%*xZr33Ar **33

£ kkkkkkkkkkkkkkkkkk MAlN PROGRAM kkkkkkkkkkkkkkkkkk

£ kkkkkkkkkkkkkkhkkrhhhrhhhrhhhrhhhrhhhrhhhrhkkrhkkrtis

COMMON /CONSTIN K/SEED/IX JXINBOOTINBINPOPINNIREPEATIR
¢ RATE/BL
DIMENSION X(10),P(L0)BYR(10),5Y(LO)fYNN(L00),PP(L00) YR(50110)
¢ Y(50,10)YNNK(100,10),TFISH( 1000), TIACK( 1000)

5 TWLE( 1000)EG(10),LOWER! 1000, UPPER! 1000)DEN(L000)
REAL XP,SYR NP,VF,VER Vi VR VWW.\\WR PP LOWER UPPERJLEN
¥ PENGH 1F LENGH2F LENGHS3F,LENGH LJL2ENGH2IDENGHSJ

*  LENGHLWLENGH2W.LENGH3
ALFA1=01
ALFA2=005
ALFA3=001
R=501
NB=1000
AN=100
N=50
k=10
X=113
1X1=6549
BO=0.0
Bl=I 0
C*********D EFlN E START D ATA *kkkkkkkkk
DO 3J=LK
X(T=0
PI)=0
SYR(J)=0
3 CONTINUE
X()=0.1
DO 5 J=2K
T1=K-1
TEM=3.0REAL(TL)



X(J)=X(J-] ntem
5 CONTINUE
DO 10 I=1K
BX=B0+BL*X()V)
EXB=EXP(BX)
P(J)=EXB/( L+EXB)
NP=P(J}'N
INP=INT(NP)
RNP=REAUINP)
DINP=NP-RNP
IF (DINP.GE.0.5) THEN
SYR{J)=INP+1
ELSE
SYR(J)=INP
ENDIF
10 CONTINUE
S=0
DO BJ1K
DO 23 1=IN
2 YR(l,J)=0
13 CONTINUE
15 IF (SLTK) THEN
S=S4
DO 20 1=IN
IF (.GT.SYR(S)) THEN
YR(l, )=INT(0)
ELSE
yIR(LS)=INT()
ENDIF
20 CONTINUE
(SOTO 15
ENDIF

CALL MLE(X,SYR,BOH,B1H)

BOHR=BOH
BIHR=BIH

CALL F1SHER(X,B0HR B1HR,VF)

VFR=VF

21



CALL JACKNOG-SYRYRVJ)
VIR=V
CALL WLSfXP,B IHWR VWRI
D06 =LNB
TFISH(S)=00
TIACK(S)=00
B )=00
63 CONTINUE
DO 5 L=LNN
5 PP(L)=FLOAT(L)FLOAT(NN)
D060 =LR
LOWER( )=00
UPPER(U)=00
LEN(U)=00
60 CONTINUE
COUNTIF=0
COUNTZF=0
COUNT3F=0
AVRCLF=00
AVRC2F=00
AVRC3F=00
COUNTLI=0
COUNT2)=)
COUNTS=0
AVRCLI=00
AVRC21=00
AVRC3J=00
COUNTIW=0
COUNT2W=0
COUNT3W=0
AVRC1W=0.0
AVRC2 =00
AVRC3W=00
ERRM=0.0
ERRW=00
0*s»*»*generate DATA FOR Thevieriek
DO 45 \=1K



40
45

%

28

K|

PR=P(V)
DO 40 L=1\N
CALL GENYOXJR.YGN!
YNNK(LV)=YGN
CONTINUE
CONTINUE
DO 30 S=L\B
DO 8 j=I,K
DO 25 L=INN
YNN(L)=YNNK(LJ)
CALL RANDY(YNNTPJ.Y)
CONTINUE
CALL SUMYCY.SYTG)
CALL MLE(X,SY,B0H,BLH)
ERRM=BLH-BIHR
CALL FTSHER(X,B0H,B1HVF)
ROOTVF=SQRT(VF)
TFISH(S)=ERRMIROOTVF
CALL JACKN(X,SY,Y.VJ)
ROOTVI=SQRT(V])
TIACK(S)=ERRMROOTV]
CALL WISIX PG BIHW,\W)
ERRV=BIHW-BIHWR
ROOTVW=SQRT(vw )
TWLE(S)=ERRW/ROOTVW
CONTINUE
CALL SORT(TFISH)
CALL SORT(TJACK)
CALL SORT(TWLE)
LENGHLF=00
LENGH2F=00
LENGH3F=0.0
LENGHLJ=00
LENGH2J=0.0
LENGH3J=00
LENGHIW=0.0
LENGH2W=00
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LENGH3 =0.0
C**GENAERATE DATA FOR CONSTRUCT INTERVAL*+*
0% =IR
DO 37 1K
PR=PF))
DO 43 1=IN
CALL GENYdX.PR.YGN)
YR(,J)=YGN
3 CONTINUE
37 CONTINUE
LOZ=INT((-(ALFA L2.0)}NB)
L02=INT((1{(ALFA22.0V)*NB)
LO3=INT«HALFA3/2.0))"NB)
UPI=NB-LO!
UP2=NB-L0?
UP3=NB-L03
CALL SUMY(YRSYRIPG)
CALL MLE(X.SYRBOHBIH)
CALL FISHER(X,BOH,B 1H.VF)
CALL C_INTER(BIH,BLTFISHVF,UPLLOL, ,COUNTIFILENGHIF)
CALL C_INTER(BIH,BLTFISHVF.UP2,L02, COUNT2FLENGH2F)
CALL C INTER(BLH,BLTFISH.VF,UP3,L03, . COUNT3F LENGH3F)
CALL JACKN(X,SYR YR\VA)
CALL C INTER(BIH,B1 TJACK,VJ,UPLLOLU,COUNTLI LENGHL))
CALL C_INTER(BLHBLTIACK VJUP2JL02,U COUNT2I,LENGH2))
CALL C INTER!BIHBI1-TJACK VJUP3LOS, .COUNT3ILENGH3))
CALL WLS(XPG BL HW.\W)
CALL C_INTER(BLHW,BLTWLEVW,UPL LO1, COUNTIWILENGHL )
CALL C_INTER(BLHW,BL TWLE,VW,UP2,L02,U COUNT2W,LENGH2W)
CALL C_INTER(BLHW,BL TWLE,VW,UP3,L03, ,COUNT3W.LENGH3W)
3% CONTINUE
C**FIND AVERAGE NUMBER OF INTERVAL®*
AVRCIF=COUNTIFIR
AVRC2F=COUNT2FR
AVRC3F=COUNT3FR
AVRCH=COUNTIR
AVRC2J=COUNT2JR
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AVRC3T=COUNT3JR
AVRC1V=COUNTIWR
AVRC2W=COIINT2WR
AVRC3  =COUNT?"/r
ROOTR=SQRT(R)
ERRY0=090-0.4935RO0TR)
ERR95=095-{0.3585RO0TR)
ERR99=099-{0.1636ROOTR)
CALL CHKTYPEKLENGHF,ERROOAVRC IFA VRLIF)
WRITE (6,30L) AVRCLFAVRLIF

301 FORMAT(3X,ERR90' 3X/AVRCF="F10.4,3X AVRLF="F7.4)
CALL CHKTYPEI(LENGH2F ERR95,AVRC2F AVRL2F)
WRITE (6,302) AVRC2FAVRL2F

302 FORMAT(3X, T2RRO5' 3X/AVRCF="F10.4.3X AVRLF='F74)
CALL CHKTYPEI(LENGH3FJERRI9AVRC3FAVRLIF)
WRITE (6,303) AVRC3FAVRL3F

303 FORMAT(3X, ERRO9' 3% AVRCF=T104,3X AVRLF='JF7.4)
CALL CHKTYPEI(LENGHL],ERRI0AVRCLIAVRLL))
WRITE (6,304) AVRCUAVRLLJ

304 FORMAT(3X, ERRY0 3X AVRCJ=" F10.4,3X AVRLI=,F74)
CALL CHKTYPEI(LENGH2J ERRSAVRC2IA VRLL)
WRITE (6,305) AVRC2JAVRL2J

305 FORMAT(3X, ERRO5, 3X/AVRCJ='F104,3X AVRLI='F7.4)
CALL CHKTYPEI(LENGH3I,ERR99,AVRC3JAVRL3))
WRITE (6,306) AVRC3JAVRL3

306 FORMAT(3X, ERRO9' 3X/AVRCJ='F10.43X AVRU="T7.4)
CALL CHKTYPEKLENGH1 [FRR9OAVRCL ,AVRLIW)
WRITE (6,307) AVRCLWAVRLLW

307 FORMAT(3X,ERR90’ 3X AVRCWW="FL0.4,3% 'AVRLW="F7.4)
CALL CHKTYPEI(LENGH2W ERRO5 AVRC2WAVRL2W)
WRITE (6,308) AVRC2W AVRL2W

308 FORMAT(3X,ERR95' 3%, AVRCW="F10.4, 3X/AVRLW="F74)
CALL CHKTYPEI(LENGH3WERRIIAVRCIWAVRLIW)
WRITE (6,300) AVRC3W,AVRL3W

309 FORMAT(3X,ERR99'.3X, AVRCW="F104,3X AVRLW='F74)
STOP
END
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C**SUBROUTINE COUNT NUMBER OF INTERVAL»*

("******************» kkkkkkkkkkkkkkkhkkhkkkrhkkkkrhkkkk

SUBROUTINE C_INTER(BIH,BIT.V,UP,LO, COUNTLENGH)
DIMENSION LOWER(1000)LIPPER! 1000)TEN(1000)
REAL LOWERUPPER LEN,LOW,UPP LENGH
CALL INTERVALIBIH.TV,UP.LO,LOW,UPP)
LOWER(U)=LOW
UPPER(U)=UPP
LEN(U)=UPPER(U)-LOWER(U)
LENGH=LENGH-LEN(U)
IF ((LOWER(U).LE.BI).AND.(UPPER(U).GE.BJ) then
COUNT=COUNT#
ELSE
COUNT=COUNT+0
ENDIF
RETURN
END

CrrertSUBROUTINE FISHER INFORMATIQN ke
SUBROUTINE FISHER(X,BOH,BL H.VF)
COMMON /CONSTINK
DIMENSION X(10)

SYPH=0

DO 3J=1K
BIHX=REALIBIH)X()
BHX=REAL(BOH)+B 1HX
EXBH=EXP(BHX)
DIEX=(L+EXBH)*?
PH=EXBHIDLEX
DX=X(J)*2
XPH=DX*PH
SXPH=SXPH+XPH

3 CONTINUE
IBH=N*SXPH



VI-=![REAUIBIi
RETURN
H\D

*****************************************

P*'k'k*'k**'k'k'k****************'k***'k'k'k******************* *

SUBROUTINE JACKN(X.SY,Y.VJ)
COMMON /CONSTINK
DIMENSION X(10),SY(L0),SYJ(10),Y(50,10),B1HI(50,0)
DO 43 J=1K
SYJ(9)=00
DO 5 1=IN
5 BIHLJ=00
/3 CONTINUE
DO 50 ELK
50 SYII=SY(Q)
DO 40 J=LK
1
4 YI)=sy()Y()
CALL MIJI(X sYJBOH BIH)
BIHIJ(i=BIK
=14
IF (LLE.N) THEN
SYI)=SY()
GOTO 4
ELSE
GOTO 40
ENDIF
40 CONTINUE
SBLHT-0
DO 3 J=1K
DO 20 =N
0 SBIHI=SBIH+BIHLIU)
30 CONTINUE
NK=REAUN?K)
BIHD=SBLHIINK
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SRDBS=0.0
DO 15 ELK
DO 10 =IN
BDB=<B1H\J(J)-BIHD)
BDBS=BI)B"2
SBDBS=SBDBS+BDBS
10 CONTINUE
15 CONTINUE
VJ=(NK-LOJ*SBDBSINK
RETURN
END

Qﬁ****************************************************

c*ASUBROUTINE WEIGHTED LEAST SQUARE++#
(2*****************************************************
SUBROUTINE  LS(X,P,B HW VW)
COMMON /CONSTINK
DIMENSION X(10),P(L0jW(10),PW(.L0),QW(L0),PD(10)
REAL WLDPCBARLBARD, ~ PX.SWXS
SWP=0.0
SWX=00
=00
DO 3 :=1K
PW(J)=00
QW()=00
WV(2)=00
PD()=00
33 CONTINUE
DO 50 J=1K
IF (P()EQ.O) THEN
PW(J)=0,.9999999
FLSE
IF (PEQO.0) THEN
PW(3)=0.000000L
ELSE
PWJ=P(T)
ENDIF
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ENDIF
QW(J)=REAIX IVPW())
W<J)=REAL(N*PW(I*QW(J)
PD{JFALOG<PW(J)-ALOG(QV )
=SWHW )
SWP=SWP+(W(J)*PD(J)
Wx=swx+< ( *X A
50 CONTINUE
XBAR=REALISWX)REAU " |
PBARD=REAL<SWP)IREAUSW)
SWPX=0.0
SWXS=00
DO 40 J=1K
PDP=PD(J}-PBARD
XDX=X )-XBAR
WPX=W )*PDP*XDX
wxs= )*XDX*XDX
PX=" PX+WPX
SWXS=SWXS+WXS
40 CONTINUE
BLHW=SWPX/S\VXS
vw=1.0/swxs
RETURN
END

(M KRR R XK KK K K KKK KK K K K K K K XX K XXX K KKK KK KKK KKK KKK K KK K K K %

(4 ¥ SUBROUTINE maximum  likelihood ¥+

(_'*****************************************************

SUBROUTINE MLECX,SY.BOH,BIH)
COMMON /CONSTINLK
DIMENSION Xn0),SY(I0l

REAL Cl

DSY=00

DSXY=00

SXD6=0.0

SDXD6=0.0

SXD2=00



DO 5J=1,K
DSY=DSY+ Y(J1
XsY=X(JPSY(T)
DSXY=DSXY+x y
XD6=X(JV6
SXD6=SXD6+XD6
DXD6=(X(J)**2)/REAI (6)
DXD6=sDXD6+DXD6
XD2=X(J)/2.0
SXD2=SXD2+XD2
5 CONTINUE
CI=REAL(K)/6.0
CC1=REAL(N}*CL
C2=REAL<SXD6)
CC2=REAUNJ*C2
CC3=REAL(NJ*REAL(SXD61
CC4=REAUN)*REAL(SDXD6)
DD1=DSY-(0.5*REAL(N)*REAUK):;
DD2=DSXY-(REAL<N)*REa L(SXD2))
EE1CCL*CCAHCC3*CC2)
BOH=('(DD1 *CC4)-DD2*CC2))/EEL
B1H=((CC1*DD2)-(CC3*DDI))/EEL
RETURN
END

kkkkkkkkkkkkkrhhkrhhkkhhhhhkkhhkhhkrkkkrhhrhkhrhhkrkk

p************* SUBROUT'NE |NTERVAL**************
p*****'k'k'k'k'k******'k'k****'k'k'k'k****'k'k*'k*******************
SUBROUTINE INTERVAL(BHT,V LIPEQ,LOW,UPP)

DIMENSION TUI

REAL LOW UPP
L.OW=REAUBH)-(T(LO)SQRT(V)
[T P=REAUBH)-(UP)*SQRTYV)
RETURN

END



fag rrrrrns CHECK TYPE Jrsssssssssss
SUBROUTINE OHKTYPEIIWEIDGHERR AVRC.AVRU
COMMON /REPEAT®
REAL AVRL
JE (AVRC.GEERR) THEN
AVRL=WETDGH/REALR)
ELSE
AVRL=0.0
ENDIF

RETURN
END

*

JUKE K kKRGS K K K K K R K R K K K K K K K Lk Kk kK KR K K KK R K Kk K K K K K K KKK K K K K * % *

£*************** UBROUT'NE SORT T****************

SUBROUTINE SORT(T)
COMMON INBOOTINB
DIMENSION T(»)
TEMP=00
DO 5 1=INB-1
DO 10 =H1NB
IF (T()GT.T(3)) THEN
TEMP=T(J)
TU=TD
TL)=TEMP
ENDIF
10 CONTINUE.
5 CONTINUE
RETURN
END



O *FFlox kK kokkk ok k S broutinh random

('-************* vk kkkkkkkkkkkkkk

SUBROUTINE RANDYIYNNPP,JY)
COMMON JCONSTIN K/NPOPINNISEED/IX,fx 1
DIMENSION YNNF 100)PP(]0),Y(50,10)
DO 73 =LK
DS =N
S YWJI=0
73 CONTINUE
DOA =IN
CALL RANDLIX 11Y.YCi
DO 10 L=L AN
PP(0)=0
IF <YG.GTPP(L-L)AND.(YGLEPP() then
Y(WJ)=YNN(T)
GOTO 20
ENDIF
10 CONTINUE
20 CONTINUE
RETURN
END

kkkkkkkkkkkkkkkkkkk kkk%

g*************STgRQL”J'I\lTr SUMA‘“ON y kkkkkkkkkkxk

1 *hkkkkkkkkkkkk
)

UBROUTINE ~ MY(Y, Y;G)
COMMON JCONSTINK
DIMENSION SVf 10)PG< 10),Y(50,00)
DO 10 K
SY()=0
DO 5 1=LN

5 SY(IRSYQHY()
PGCI)=SY(nREAL(N)

10 CONTINUE
RETURN
END
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BROTITINE GUNYelX PRY: N1

CILI RAND(X Jy ¥R
IF (XR GEPR) THEN

YGN=0
FLSE

YGN=|
ENDIE?
RETURN
END

.subroutine RANDOM#SH'f*##k ke
UBROUTINE RANDGXJY ,YFLi

IY=IX* 16807

IF (IY.LT.O) IY=IY+2147453647+1

YFL=IY

YFL=YFL*0.465661E-9

IX=1Y

RETURN

END
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